Enagic 50th Anniversary Contest Welcome to the Enagic Road / Way

50th Anniversary Campaign

6A~6A27 Group Sales Contest

Monthly				Daily
1 \$ 30,000	11 \$ 12,000	21 \$ 7,000	31 \$ 6,000	1 \$ 5,000
2 \$ 28,000	12 \$ 10,000	22 \$ 6,900	32 \$ 5,900	2 \$ 4,000
3 \$ 27,700	13 \$ 9,500	23 \$ 6,800	33 \$ 5,800	3 \$ 3,000
4 \$ 26,000	14 \$ 9,000	24 \$ 6,700	34 \$ 5,700	4 \$ 2,000
5 \$ 24,000	15 \$ 8,500	25 \$ 6,600	35 \$ 5,600	5 \$ 1,000
6 \$ 22,000	16 \$ 8,000	26 \$ 6,500	36 \$ 5,500	6 \$ 900
7 \$ 20,000	17 \$ 7,800	27 \$ 6,400	37 \$ 5,400	7 \$ 800
8 \$ 18,000	18 \$ 7,600	28 \$ 6,300	38 \$ 5,300	8 \$ 700
9 \$ 16,000	19 \$ 7,400	29 \$ 6,200	39 \$ 5,200	9 \$ 600
10 \$ 14,000	20 \$ 7,200	30 \$ 6,100	40 \$ 5,000	10 \$ 500
世界和のハデイキャプ的の英人におり				
いとなりんでも大きなり、レフジオチにチャレングはさます。				
With the worlds first handicap calculation,				
small to large groups can compete with one another.				
6A2-7	6A26 6A25	6A24 6A-2	3 6A22 6A	2 6A
1.0	2.0 3.5	5.0 10.0	0 15.0 25	.0 40.0
これを代金にエトジックドリームを実現しまう。				
Don't miss this opportunity to make your Enagic Dream come true.				

Enagic reserves the right to change this contest T&C at any time without prior notice. (Version 1 - 2023/10/5)

CONTEST PERIOD

October 1st 2023 to March 31st 2024



- Determined by monthly / daily group sales globally.

- Contest winners will be invited to next year Enagic 50th anniversary in Okinawa on 21 June 2024 (T&C Apply)

WHO For 6A and above distributors

CALCULATION

Total group sales x handicap based on rank

- Ukon DD will count as 1/3 sales
- Self- Purchase will count
- emGuarde will count as 1/2 sale
- Tokurei sales will not count
- E8PA card special count: Black 8 sales, Platinum 6 sales,
- Gold 4 sales, Silver 2 Sales, Bronze 1 sale

TOP 40 MONTHLY WINNER EXAMPLE

Distributor A

Is a **6A2-5 distributor** and group sales in November 2023 is 100 units.

Handicap for 6A2-5: 3.5

Total: 100 x 3.5 = <u>350 sales</u>

Distributor B

Is a **6A2-2 distributor** and group sales in November 2023 is 80 units.

Handicap for 6A2-2: 15.0

Total: 80 x 15.0 = **<u>1200 sales</u>**

Winner will be select based on sales count. If Distributor B rank number 15th, Distributor A rank number 20th by end of November, so they will receive: Rank 20th : Distributor A - USD 7200 Rank 15th : Distributor B - USD 8500

Enagic reserves the right to change this contest T&C at any time without prior notice. (Version 1 – 2023/10/5)

TOP 10 DAILY WINNERS EXAMPLE

Distributor A

Is a **6A2 distributor** and group sales on 1 December 2023 is 50 units.

Handicap for 6A2: 25.0

Total: 50 x 25.0 = **<u>1250 sales</u>**

Distributor B

Is a **6A2-3 distributor** and group sales on 1 December 2023 is 60 units.

Handicap for 6A2-3: 10.0

Total: 60 x 10.0 = <u>600 sales</u>

Winner will be select based on sales count. If Distributor A rank number 4th, Distributor B rank number 7th on 1 December, so they will receive: Rank 4th : Distributor A - USD 2000 Rank 7th : Distributor B - USD 800